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QUESTION 1

Which of the following packets is sent by a DHCPV6 client before it sends a request packet to the DHCPV6 server?

A.RA
B. RS
C.NA
D. NS

Correct Answer: D

QUESTION 2

A trunk port can allow multiple VLANSs to pass, including VLAN4096.
A. Correct

B. Error

Correct Answer: B

QUESTION 3

In order to check if the interface serial 1/0/0 is working in either DCE or DTE mode, command () is used.
A. display mode serial 1/0/0

B. display controller

C. display interface serial 1/0/0

D. display current-config

Correct Answer: C

QUESTION 4

If the network address of a network is 10.1.1.0/30, then its broadcast address is ()?
A.10.1.11

B.10.1.1.2

C.10.1.1.3

D.10.1.1.4

Latest H12-211 Dumps | H12-211 PDF Dumps | H12-211 Study Guide

2/3


https://www.leads4pass.com/h12-211.html
https://www.leads4pass.com/h12-211.html
https://www.leads4pass.com/h12-211.html

https://lwww.leads4pass.com/h12-211.html

Leads4Pass o iaes leads4pass H12-211 PDF and VCE dumps Download

Correct Answer: C

QUESTION 5

An AR2200 router learned the route entries to the same network and the routes learned through OSPF
through OSPF and RIPv2.

The overhead value is 4882, and the number of hops learned by RIPv2 is 4, and there will be () in the
router\\'s routing table.

A. RIPVv2 routing

B. OSPF and RIPv2

C. OSPF routing

D. Both do not exist

Correct Answer: C
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